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PLAYING WITH NUMBERS

Solved Examples

1. In a 2-digit number, the units digit is four

times the tens digit and the sum of the digits


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sVzMQECZGlzw

is 10. Find the number.

o Watch Video Solution

2. Q1 3P fH U YT F HHl BT AT 8 &1 3P
37T @I Ueled IR YT ¥ Ol v & 18 oA &

AT S1Td hIfAT

o Watch Video Solution

3. In a 3-digit, the hundreds digit is twice the

tens digit while the units digit is thrice the


https://dl.doubtnut.com/l/_sVzMQECZGlzw
https://dl.doubtnut.com/l/_NnEt8nwfzJsK
https://dl.doubtnut.com/l/_IuL6QAtP6LXm

tens digit. Also, the sum of its digits is 18. Find

the number.

° Watch Video Solution

4. Replace AB,C,D by suitable numerals in the

following

6ABb5
+ D58C
9351

A 3,895

B.2,7,8,9


https://dl.doubtnut.com/l/_IuL6QAtP6LXm
https://dl.doubtnut.com/l/_A9h0OEEdwvLH

C.6,6,7,2

D.2, 4, 6,7

Answer: C

° Watch Video Solution

5. Find the values of A, B and C in the

following

354
—(CB8
183

A 1,61


https://dl.doubtnut.com/l/_A9h0OEEdwvLH
https://dl.doubtnut.com/l/_0flCBkGaekxv

B.2,5,7

C.3,7,8

D.6,9,6

Answer: A

o Watch Video Solution

6. Find the values of A and B in the following

4A
X 6
2B4


https://dl.doubtnut.com/l/_0flCBkGaekxv
https://dl.doubtnut.com/l/_BnKhKGxt2Pjd

A. 4,6

B. 6,4

C.44

D. 6,6

Answer: A

o Watch Video Solution

7. Find the values of AB,C , when

AB
x BA
BCB



https://dl.doubtnut.com/l/_BnKhKGxt2Pjd
https://dl.doubtnut.com/l/_zScU2KbU9JaH

A4 8 3

B.1,2,5

C.2,7,9

D.3,8,7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zScU2KbU9JaH

8. Find the values of AB,C in the following

9)4 AB(5C

45

3B

~36
0

A. 48,6

B.4,6,8

C. 8,6,4


https://dl.doubtnut.com/l/_sQXycu90ZeAG

D. 84,6

Answer: C

o Watch Video Solution

9. Find the values of AB,CDEFG in the

following


https://dl.doubtnut.com/l/_sQXycu90ZeAG
https://dl.doubtnut.com/l/_10lQEpcj8ieW

AB)4CDE(1FG
-28
15D
-140
16 E
-~ 16E

!

o Watch Video Solution

1. Each of the numbers 60,72,84,96,108 is

divisible by 2.



https://dl.doubtnut.com/l/_10lQEpcj8ieW
https://dl.doubtnut.com/l/_9wrivHpWEIr3

\ o Watch Video Solution

2. Test the divisibility of the following numbers
by 3.

(1) 18657 (ii) 967458 (iii) 263705

o Watch Video Solution

3.Find all possible values of x for which 4-digit
number 754z is divisible by 3. Also, find each

such number.

| & ]


https://dl.doubtnut.com/l/_9wrivHpWEIr3
https://dl.doubtnut.com/l/_ZcX4bMPQFcUY
https://dl.doubtnut.com/l/_59nOQlJFEhFG

| ' Watch Video Solution |

4. Test the divisibility of each of the following
numbers by 9.
(1) 27981 (i1) 869517 (iii) 937546

(iv) 336899

° Watch Video Solution

5. Find all possible values of y for which 4-digit
number 51y3 is divisible by 9. Also, find each

such number.


https://dl.doubtnut.com/l/_59nOQlJFEhFG
https://dl.doubtnut.com/l/_rkN5rRxI3LW5
https://dl.doubtnut.com/l/_IDocii7U0UOS

° Watch Video Solution

6. Give an example of a number which is

divisible by 3 but not divisible by 9.

o Watch Video Solution

7. Each of the numbers 67930 and 89715 is
divisible by 5. None of the numbers 146,

278,513,684,341,482,507 is divisible by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_IDocii7U0UOS
https://dl.doubtnut.com/l/_BdgybooJ6apG
https://dl.doubtnut.com/l/_3nzoVyS6yV57

8. Each of the following 90,120,230,350,470, etc.

is divisible by 10.

° Watch Video Solution

9. Test the divisibility of each of the following
numbers is 4.

(1) 36692 (ii) 41328 (iii) 10874 (iv) 154326

° Watch Video Solution



https://dl.doubtnut.com/l/_3nzoVyS6yV57
https://dl.doubtnut.com/l/_QxojueCjW632
https://dl.doubtnut.com/l/_ZZu66Vs6Wjez
https://dl.doubtnut.com/l/_6wrMJMyF2qLr

10. Test the divisibility of each of the following
numbers is 8.

() 49104 (ii) 570312 (iii) 685218 (iv) 739514

° Watch Video Solution

11. Give an example of a number which is

divisible by 4 but not divisible by 8.

A. .32

B.40

C.44


https://dl.doubtnut.com/l/_6wrMJMyF2qLr
https://dl.doubtnut.com/l/_d81ly7odyRGn

D.48

Answer: C

o Watch Video Solution

12. Test the divisibility of each of the following
numbers is 7.

(1) 672 (ii) 5341 (iii) 1067 (iv) 7305

o Watch Video Solution



https://dl.doubtnut.com/l/_d81ly7odyRGn
https://dl.doubtnut.com/l/_fg9HHZZ7ADEr

13. Test the divisibility of each of the following

numbers is 11.

(1) 863478 (ii) 4832718 (iii) 5436708

o Watch Video Solution

1. Two units digit of a two-digit number is 3
and seven times the sum of the digits is the

number itself. Find the number.

| e |


https://dl.doubtnut.com/l/_GL4bxdU2YjF9
https://dl.doubtnut.com/l/_Vns6k7HAOivO

| L ® Watch Video Solution

2. In a two-digit number, the digit at the units

place is double the digit in the tens place. The

number exceeds the sum of its digits by 18.

Find the number.

A. 20

B.36

C.24

D.48


https://dl.doubtnut.com/l/_Vns6k7HAOivO
https://dl.doubtnut.com/l/_cLOKgQ9ue6rE

Answer: C

o Watch Video Solution

3. A two-digit number is 3 more than 4 times
the sum of its digits. If 18 is added to the
number, the digits are reversed. Find the

number.

A. 34

C.37


https://dl.doubtnut.com/l/_cLOKgQ9ue6rE
https://dl.doubtnut.com/l/_nSZ7Wo0YM2m7

Answer: B

° Watch Video Solution

4.The sum of the digits of a two-digit number
is 15. The number obtained by interchanging
its digits exceeds the given number is 9. Find

the original number.

A. 78


https://dl.doubtnut.com/l/_nSZ7Wo0YM2m7
https://dl.doubtnut.com/l/_MwgiA7cdeSvK

B. 87

C. 88

D. 77

Answer: A

o Watch Video Solution

5. The difference between is 2-digit number
and the number obtained by intercanging its
digits is 63. What is the difference between

the digits of the number?


https://dl.doubtnut.com/l/_MwgiA7cdeSvK
https://dl.doubtnut.com/l/_Z6yoqYqVnRb7

° Watch Video Solution

6. In a 3 -digit number,the tens digit is thrice
the units digit and the hundreds digit is four
times the units digit.Also,the sum of its digits

is 16. Find the number

o Watch Video Solution



https://dl.doubtnut.com/l/_Z6yoqYqVnRb7
https://dl.doubtnut.com/l/_pbxwTZv3r3HV

1. Test the divisibility of each of the following
numbers by 2:
(1) 9 (ii) 570 (iii) 285 (iv) 2398 (v) 79532 (vi) 13576

(vii) 46821 (viii) 84663 (ix) 66669

o Watch Video Solution

2. Test the divisibility of each of the following
numbers by :
(1) 95 (ii) 470 (iii) 1056 (iv) 2735 (v) 55053 (vi)

35790 (vi) 98765 (vii) 42658 (ix) 77990

| & I


https://dl.doubtnut.com/l/_YzHXDPhc6Hhq
https://dl.doubtnut.com/l/_LZozy4tpvw6N

| ¥ Watch Video Solution |

3. Test the divisibility of each of the following
numbers by :

(1) 205 (ii) 90 (iii) 1174 (iv) 57930 (v) 60005

o Watch Video Solution

4. Test the divisibility of each of the following
numbers by 3 :
(1) 83 (ii) 378 (iii) 474 (iv) 1693 (v) 20345 (vi)

67035 (vii) 591282 (viii) 903164 (ix) 100002


https://dl.doubtnut.com/l/_LZozy4tpvw6N
https://dl.doubtnut.com/l/_Tjg6qoYNVxzj
https://dl.doubtnut.com/l/_oXLFgBY2qEez

° Watch Video Solution

5. Test the divisibility of each of the following
numbers by 9:
(1) 327 (ii) 7524 (iii) 32022 (iv) 64302 (v) 89361

(vi) 14799 (vii) 66888 (viii) 30006 (ix) 33333

o Watch Video Solution

6. Test the divisibility of each of the following

numbers by :


https://dl.doubtnut.com/l/_oXLFgBY2qEez
https://dl.doubtnut.com/l/_ejhTX7vGATya
https://dl.doubtnut.com/l/_TDjk8vNrLGZJ

(1) 134 (ii) 618 (iii) 3928 (iv) 50175 (v) 39392 (vi)

56794 (vii) 86102 (viii) 66666 (ix) 99918 (x) 77736

° Watch Video Solution

7. Test the divisibility of each of the following
numbers by 8 :
(i) 6132 (ii) 7304 (iii) 59321 (iv) 66664 (v) 44444

(vi) 154360 (vii) 998818 (viii) 265472 (ix) 7350162

o Watch Video Solution



https://dl.doubtnut.com/l/_TDjk8vNrLGZJ
https://dl.doubtnut.com/l/_7imykdlvrfqX

8. Test the divisibility of each of the following
numbers by 11:
(i) 22222 (ii) 444444 (iii) 379654 (iv) 1057982 (V)

6543207 (vi) 818532 (vii) 900163 (viii) 7531622

o Watch Video Solution

9. Test the divisibility of each of the following
numbers by 7 :
(i) 693 (ii) 7896 (iii) 3467 (iv) 12873 (v) 65436 (vi)

54636 (vii) 98175 (viii) 88777

| & I


https://dl.doubtnut.com/l/_Qru2gRY8SlAI
https://dl.doubtnut.com/l/_R12N7yIjeFf4

| ¥ Watch Video Solution |

10. Find all possible values of x for which the
number 7x3 is divisible by 3. Also , find each

such number.

o Watch Video Solution

1. Find all possible values of y for which the
number 53y1 is divisible by 3. Also , find each

such number.

o Watch Video Solution



https://dl.doubtnut.com/l/_R12N7yIjeFf4
https://dl.doubtnut.com/l/_HcFGzqqVtfC0
https://dl.doubtnut.com/l/_i65JXDvBBg4d

12. Find the value of x for which the number

x806 is divisible by 9. Also find the number.

° Watch Video Solution

13. Find the value of z for which the number

47128 is divisible by 9. Also find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_i65JXDvBBg4d
https://dl.doubtnut.com/l/_dSA78M9CbK6N
https://dl.doubtnut.com/l/_14P5OYF1cEKB

14. Give five examples of numbers, each one of

which is divisble by 3 but not divisible by 9.

o Watch Video Solution

15. Give five examples of numbers, each one of

which is divisble by 4 but not divisible by 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_GT3NlvvgsiDO
https://dl.doubtnut.com/l/_hacttvjvGVb7
https://dl.doubtnut.com/l/_QLtO9UYfuY6C

1. Replace AB and C by suitable numerals.

bA
+87
CB3

o Watch Video Solution

2. Replace AB and C by suitable numerals.

4C'B6
+369A4
8173

o Watch Video Solution



https://dl.doubtnut.com/l/_QLtO9UYfuY6C
https://dl.doubtnut.com/l/_FkJ4VRklfJmn

3. Replace AB and C by suitable numerals.

A
+A
A
BA

o Watch Video Solution

4. Replace AB and C by suitable numerals.

6A
—AB
37

o Watch Video Solution



https://dl.doubtnut.com/l/_6U8nXin0iqWu
https://dl.doubtnut.com/l/_xmlGdz8IDDjd
https://dl.doubtnut.com/l/_S9qHluK7rYMD

5. Replace AB and C by suitable numerals.

CB5
—28A
259

o Watch Video Solution

6. Replace AB and C by suitable numerals.

AB
X 3
CAB

o Watch Video Solution



https://dl.doubtnut.com/l/_S9qHluK7rYMD
https://dl.doubtnut.com/l/_9p47DP791UDg

7. Replace AB and C by suitable numerals.

AB
x BA
(B+1)CB

o Watch Video Solution

8. Replace AB and C by suitable numerals.

6)5AB(9C
-54
3 B

X



https://dl.doubtnut.com/l/_HoK0Q02fWrov
https://dl.doubtnut.com/l/_CZyJB1UDtnzW

° Watch Video Solution

9.Find two numbers whose product is a 1-digit

number and the sum is a 2-digit number.

o Watch Video Solution

10. Find three whole numbers whose product

and sum are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_CZyJB1UDtnzW
https://dl.doubtnut.com/l/_dMfq8umAwqHs
https://dl.doubtnut.com/l/_9ux8KaN58gYh
https://dl.doubtnut.com/l/_MlgNnkuFWnfM

11. Complete the magic square given below, so
that the sum of the number in each row or in

each column or along each diagonal is 15

o Watch Video Solution

12. Fill in the numbers from 1 to 6 without

repition, so that each side of the triangle adds


https://dl.doubtnut.com/l/_MlgNnkuFWnfM
https://dl.doubtnut.com/l/_K9VISldgYwcE

O
up to 12.

o Watch Video Solution

13. Fibonacci numbers Take 10 numbers as
shown below:

a,b (a+b), (a+2b), (2a+3b), (3a+5b), (5a+8b),
(8a+13b), (13a+21b), and (21a+34b). Sum of all
these numbers =11(5a+8b)

= 11 x 7th number. Taking a =8, b=13, write


https://dl.doubtnut.com/l/_K9VISldgYwcE
https://dl.doubtnut.com/l/_NAmxydYmBHAJ

10 Fibonacci numbers and verify that sum of

all these numbers = 11 x 7th number.

° Watch Video Solution

14. Complete the magic square
14 0
8 6 11
4 7
2 1 12

o Watch Video Solution



https://dl.doubtnut.com/l/_NAmxydYmBHAJ
https://dl.doubtnut.com/l/_AFAgG521CZHl

1. If 526 is three digit number exactly divisible
by 3, then the least value of x is

A0

B.1

C.2

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qz4OLlCsfXdY

2.1f 64y8 is exactly divisible by 3, then the least

value of y is

A.O

B.1

C.2

D.3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qz4OLlCsfXdY
https://dl.doubtnut.com/l/_qZicMozq9WrI

3. If 7 x 8 is exactly divisible by 9, then the

least value of ¢ is

A.0

B. 2

C.3

D.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TRkpAIDRpsOQ
https://dl.doubtnut.com/l/_eEjM36xuaMw5

4.1f 37y4 is exactly divisible by 9, then the least

value of y is

A2

B.3

C.1

D.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eEjM36xuaMw5

5. If 4xy7 is exactly divisible by 3, then the least

value of (x+y) is

Al

B.4

C.5

D.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_p9Nv1TUoIOPG
https://dl.doubtnut.com/l/_QrYwPF83JA5C

6. If x7y5 is exactly divisible by 3, then the least

value of (x+y) is

A.6

B.O

C.4

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QrYwPF83JA5C

7. If x4y5z is exactly divisible by 9, then the
least value of (x+y+z) is

A 3

B.6

C.9

D.O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rIBnVeEOtY2q
https://dl.doubtnut.com/l/_BdgfvgYaOfNM

8. If 1A2B5 is exactly divisible by 9, then the

least value of (A+B) is

A.O

B.1

C.2

D.10

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BdgfvgYaOfNM

9. If the 4-digit number x27y is exactly divisible

by 9, then the least value of (x+y) is

A.O

B.3

C.6

D.9

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pFLH9qjyxYsU

Test Paper 5

1. Find all possible values of x for which the 4-
digit number 320x is divisible by 3. Also, find

the numbers.

° Watch Video Solution

2.Find all possible values of x for which the 4-
digit number 64y3 is divisible by 9. Also, find

the numbers.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_YV9pRbG0lXEY
https://dl.doubtnut.com/l/_80iSlqxhugIC

3. The sum of the digits of a 2-digits number is
6. The number obtained by interchangind its
digits is 18 more than the original number.

Find the original number.

o Watch Video Solution

4. Which of the following numbers are
divisible by 97

(1) 524618 (i1) 7345845 (iii) 8987148



https://dl.doubtnut.com/l/_80iSlqxhugIC
https://dl.doubtnut.com/l/_O6bwrBLOnWPf
https://dl.doubtnut.com/l/_UvFR5eTJ0aiF

I o Watch Video Solution

5. Replace AB,C by suitable numberals:

bT7A
—CB8
293

o Watch Video Solution



https://dl.doubtnut.com/l/_UvFR5eTJ0aiF
https://dl.doubtnut.com/l/_GWAbGUxM58vY

6. Replace AB,C by suitable numberals:

7)6 A B(8C
-5 6
6 B
~6 3

X

AA=1,B=3C=9

BBA=2B=3C=09

CA=1,B=60C=9

DA=1,B=6,C=28


https://dl.doubtnut.com/l/_zhoOlTc8eGMT

Answer: B

o Watch Video Solution

AB
x BA

7. Find the values of A,B,C when
BCB

° Watch Video Solution

8. If 7x8 is exactly divisible by 3, then the least

value of x is


https://dl.doubtnut.com/l/_zhoOlTc8eGMT
https://dl.doubtnut.com/l/_5m3YZ6Z0EPOR
https://dl.doubtnut.com/l/_2sSksHFScCx9

A3

B.O

C.6

D.9

Answer: B

° Watch Video Solution

9. If 6x5 is exactly divisible by 9, then the least

value of x is


https://dl.doubtnut.com/l/_2sSksHFScCx9
https://dl.doubtnut.com/l/_D5U5ainXSIS2

Al

B.4

C.7

D.O

Answer: C

o Watch Video Solution

10. If x48y is exactly divisible by 9, then the

least value of (x+y) is


https://dl.doubtnut.com/l/_D5U5ainXSIS2
https://dl.doubtnut.com/l/_tXHLmJCtiZOO

A4

B.O

C.6

D.7

Answer: C

o Watch Video Solution

1. If 4867 is exactly divisible by 9, then the

least value of *is


https://dl.doubtnut.com/l/_tXHLmJCtiZOO
https://dl.doubtnut.com/l/_tZfBeStqTlJv

A.O

B.1

C.3

D.2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tZfBeStqTlJv

